‘Q equip

32"~55" TV Tabletop Stand

650601

INSTALLATION MANUAL



B3

B4x2

B2

0000000000000000)

({::}D(:C:D

ooooocoooooooaoo)

(E(:(:DCED

A2x2 A3x2
<>
Abx4 A7x2
it A =
e \ms
A9x2 A10x1 A11x1 A12x2
M5x14 (x4) M6x14 (x4) M6x30 (x4) M8x30 (x4)
M-A M-B M-C M-D
M8x50 (x4) (x4) (x8) (x8)
M-E M-F M-G M-H
( ) i




A8x2 A6x2

Attention: make sure the
direction of two arrows of

Firstly tighten the A7 's
screw strongly and then
tighten the A9''s.







